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1 BREHSR
(1) BREHE (BELFh)
FE SH4EE | RUE MEIRE | SI34EE | SH2EE
1E 5 EHALE RIEALE
(%) (%)
5| K 4529.7 945 92.4 4794.6 4902.3
% 5 | BE TR - - - - -
5 | &R 80.0 107.0 93.9 74.8 85.2
W | B [LK TE 200.4 97.3 109.4 206.1 183.3
* 5 | B R 0.0 62.0 66.5 0.0 0.0
it 4,810.1 94.8 93.0 5,075.4 5,170.8
A L H 70.5 105.3 1385 66.9 50.9
1 S S 697.1 122.0 219.3 571.2 317.9
A &t 753.5 120.6 210.1 624.7 358.6
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3) FAMADNIFLADHEIZ0.8ZFL-AXIBEDEET,
(2) BARREHE (B FhY)
2R | S5E SH55E SMBERE
10A31RIR%E | 3ABAEE| (A)—(B) [xEk(%)
(] (A) (B) (10831 BE#E)
5| K 4529.7 4.220.7 309.1 94.5%
% 5 | BE TR - - - -
5 | & A 80.0 77.9 2.1 107.0%
W | B [LK TE 200.4 195.0 5.4 97.3%
* 5 | B R 0.0 0.0 0.0 62.0%
i 4,810.1 4,493.6 316.5 94.8%
A L H 70.5 68.3 2.2 105.3%
1 S S 697.1 683.1 14.0 122.0%
A § 753.5 737.7 15.8 120.6%
T 1) RUELREBREDRICTHD.
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4) PMAHAOFIELAOHEIC0.8ERLE-IXIBEDEE,
(3) KFEIDE X KDERF L
ZH | BREHRE £ % A K O # (% ) e E
FE (Fro)| 1 =% 2 & 3 % AL GE )
s =5 & 4,529.7 78.6 175 2.0 1.8 0.2
<4,220.7> <78.5> <17.9> <2.1> <1.5> <0.2>
4,794.6 83.1 13.8 1.4 1.7 -
5 F E (4,794.6) (83.1) (13.8) (1.4) 1.7 -
4,902.3 79.8 16.5 2.0 1.7 -
2 & E (4,902.3) (79.8) (16.5) (2.0) (1.7) =
AFEE-3FE(KRA2F) -45 3.7 0.6 0.1 -
AFE—-2FEFE(KRA2F) -1.2 1.0 0.1 0.2 -
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2 BENGREHE
(BHL:k2)

) Al B [KTESBERXK|KWIEXI K| BERA XX |ERIZELRX|ERELEXR X
it & & 529,852 480,211 47,473 2,168 - -
HILBBRR 1,528,666 1,465,610 50,586 12,470 - -
5F & 193,819 191,835 667 1,317 - -
5 F 177,291 167,533 8,863 895 - -
T W 235,532 229,653 4,876 1,004 - -
# H 390,392 361,205 25,520 3,667 - -
(TR 298,621 287,793 7,647 3,181 - -
g B 233,012 227,592 3,013 2,407 - -
BRRBE 758,890 737,104 14,263 7,513 - 10
% W 187,988 185,918 1,673 391 - 6
T, N 174,892 172,761 605 1,523 - 3
B OE 35917 35,720 55 142 - -
i S 57,627 57,370 78 178 - -
F o= 158,547 148,423 9,952 172 - 0
H =R 54 36 - 18 - -
m o= 3,902 3,695 41 165 - 0
(1T 7,415 6,919 111 385 - -
£ % 105,648 100,428 1,299 3,921 - -
& fif] 26,899 25,833 449 617 - -
kRS 845,383 788,416 40,222 16,745 - -
ST | 511,727 469,820 31,498 10,409 - -
E W 147,523 140,448 3,986 3,089 - -
g 93,767 89,727 3,109 931 - -
B H 92,366 88,420 1,629 2,317 - -
RERBE 187,588 182,751 3,076 1,762 - -
g B 52,408 49,565 2,092 751 - -
Z 68,133 67,099 645 389 - -
= E 67,047 66,087 339 622 - -
AR 227,359 199,003 3,661 24,695 - -
#H B 97,666 93,811 2,537 1,317 - -
m O 23,377 22,478 170 729 - -
N 5,184 5,144 13 27 - -
g E 81,225 58,182 841 22,202 - -
= B 15,578 15,107 87 384 - -
W 4,331 4,282 12 36 - -
o E P E BB 352,373 334,299 5,635 12,439 - -
E mW 35,551 34,579 419 554 - -
& R 48,393 46,340 1,283 770 - -
2 T 75,069 68,584 1,441 5,044 - -
L B 56,848 52,682 1,135 3,031 - -
w A 44,418 41,609 730 2,079 - -
m 5 24,226 23,728 70 429 - -
F N 23,042 22,827 184 31 - -
Z B 23,359 23,045 172 142 - -
= 21,465 20,906 201 359 - -
AWM B 378,686 340,994 35515 2,177 - -
= 98,614 94,490 3,017 1,107 - -
® =B 73,456 51,289 21,720 447 - -
E & 13,154 13,043 46 65 - -
E K 88,023 77,613 10,032 378 - -
X & 28,796 28,277 362 157 - -
= 40,257 40,194 43 19 - -
BE R B 36,387 36,088 295 3 - -
bai 8 1,334 1,333 2 - - -
& &t 4,810,131 4,529,720 200,432 79,970 - 10
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2 BEANRENE FIMALARUFEMARXK)

(B k)

=} Al AHEALS | AHEABAXX
* & & 655 45,945
HiLERBEE 17,206 257,132
' & 11,103 47,018
5 F 2,918 26,104
T W 979 55,510
M H 331 27,119
(1T 7 1,689 29,620
E 5 187 71,761
B BB 15,948 243613
*x W 4,075 77,351
m K 871 76,918
i S 743 7,069
% E 1,845 18,097
F OE 2,565 60,019
B =R - -
W= - 54
(1T 96 8
E % 1,411 1,519
i M 4,341 2,576
LEEREE 3,259 48,501
woR 1,025 24,947
E W 2,080 8,101
g 108 5,357
B H 46 10,096
HiBBBE 11517 29,828
I B 7,029 12,025
2 A 2,068 9,052
= = 2,420 8,750
g 3T 3,008 13,471
# =B 796 9,491
m & 459 190
X R - 72
£ E 1,742 3,420
= B 9 289
M FH oW 2 8
oh E U E 2 BUS 6,364 33,029
E W 550 3,011
5 1B 778 4,591
@ W 164 10,989
L B 2,755 573
o 1,657 4,229
m B - 3,673
F 296 251
Z & 159 1,522
= A 6 4,190
NINBRBE 12,528 25,593
B @ 436 8,072
& = 28 4170
£E 14 497 179
B A 574 6,175
X » 6,022 3,385
TG 2,609 1,025
BE R B 2,362 2,586
bid i - 0
& Hi 70,486 697,112
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(1) KIFEIDEZRK

(B b %)

TR _ 3 =y # = % & ke F
#  Et 1% 2 % 3 % [ al1 & 2% |3 % [#HREsH
it & =& 480,211 439,539| 14,378 4,635 21,659 91.5 3.0 1.0 45
HiLEBE 1,465,610 1,367,191 69,185 7,736 21,498 93.3 47 0.5 1.5
5 & 191,835 176,152 12,979 1,802 903 91.8 6.8 0.9 05
A F 167,533 162,387 4,303 397 447 96.9 26 0.2 0.3
5 W 229,653 216,409 5,995 1,415 5,834 94.2 26 0.6 25
B o= 361,205 320,662 26,487 2,741 11,315 88.8 7.3 0.8 3.1
(1T 287,793 274,832 10,117 693 2,152 95.5 35 0.2 0.7
E B 227,592 216,750 9,305 689 848 95.2 4.1 0.3 0.4
BREBE 736,925 613,093| 109,250 10,874 3,708 83.2 14.8 1.5 0.5
x W 185,740 125,963 55,105 4,196 476 67.8 29.7 23 0.3
wm K 172,761 160,802 9,632 896 1,431 93.1 5.6 05 0.8
B O 35,720 32,470 2,940 301 10 90.9 8.2 0.8 0.0
w E 57,370 39,715 13,771 3,002 882 69.2 240 5.2 15
F o= 148,423 129,059 18,264 922 178 87.0 123 0.6 0.1
" = 36 - 14 21 1 - 39.1 58.6 23
W= 3,695 1,602 2,036 55 2 434 55.1 15 0.1
(1Tt 6,919 5,841 951 124 4 84.4 13.7 18 0.1
& % 100,428 96,670 2,501 665 592 96.3 25 0.7 0.6
i M@ 25,833 20,972 4,038 690 133 81.2 15.6 2.7 05
LEEBE 788,407 621,556| 145,399 6,948 14,503 78.8 18.4 0.9 1.8
woR 469,811 347,345 112,198 3,329 6,939 73.9 23.9 0.7 15
E 140,448 123,531 13,964 1,089 1,865 88.0 9.9 0.8 1.3
a 89,727 74,566 13,373 1,483 305 83.1 149 1.7 0.3
L 88,420 76,115 5,863 1,048 5,394 86.1 6.6 1.2 6.1
HEBBE 182,751 98,687 76,130 6,512 1,422 54.0 417 36 0.8
I B 49,565 31,944 15,202 1,312 1,108 64.4 30.7 26 22
T A 67,099 40,011 23,738 3,163 187 59.6 354 47 0.3
= 8 66,087 26,732 37,191 2,037 127 40.5 56.3 3.1 0.2
RREBE 199,003 119,508| 69,675 8,719 1,101 60.1 350 44 0.6
B 93,811 60,307 31,342 1,783 379 64.3 334 1.9 0.4
m O 22,478 14,818 6,138 1,353 170 65.9 27.3 6.0 0.8
X IR 5,144 2,562 2,074 492 15 49.8 40.3 9.6 0.3
E E 58,182 26,693 26,601 4,475 412 45.9 45.7 7.7 0.7
= B 15,107 13,977 868 192 70 925 5.7 1.3 05
¥ W 4,282 1,151 2,652 425 54 26.9 61.9 9.9 1.3
fhE mEE G 334,299 194,470| 118,998 17,576 3,255 58.2 35.6 5.3 10
£ W 34,579 19,445 14,224 826 83 56.2 41.1 24 0.2
E B 46,340 31,821 11,647 2,316 557 68.7 25.1 5.0 1.2
i 68,584 38,109 25,183 4,569 723 55.6 36.7 6.7 1.1
5 B 52,682 45,533 6,357 656 136 86.4 12.1 1.2 0.3
WA 41,609 31,946 8,306 1,064 293 76.8 20.0 26 0.7
m B 23,728 10,837 10,895 1,646 350 45.7 45.9 6.9 15
EF 22,827 5,270 15,128 2,412 17 23.1 66.3 10.6 0.1
Z IE 23,045 8,485 13,023 1,111 426 36.8 56.5 48 1.8
= 20,906 3,024 14,234 2,976 671 145 68.1 14.2 32
NI BB 340,994 107,716| 189,717 28,420 15,141 31.6 55.6 8.3 44
B @ 94,490 21,156 62,152 4,336 6,846 22.4 65.8 46 7.2
B =B 51,289 24083 23,632 1,491 2,083 470 46.1 29 4.1
£ & 13,043 2,162 9,931 814 136 16.6 76.1 6.2 1.0
BE K 77,613 22,098 45870 5,227 4418 28.5 59.1 6.7 5.7
X & 28,277 13,208 11,287 3,394 387 46.7 39.9 12.0 1.4
=g 40,194 14,647 15,557 9,340 650 36.4 38.7 23.2 16
BERE 36,088 10,363 21,288 3817 621 28.7 59.0 10.6 1.7
i 1,333 545 439 205 144 40.9 32.9 15.3 10.8
& &t 4529533| 3562,306| 793,172| 91,624 82431 78.6 175 20 1.8
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2) TOoJ FEMIZERGZVWED. T-] FEEIGVLOZEZRLTVET,

-5-




_(2) KIEEEZ XK (iﬁ:hz‘ %)

TR _*ﬁ & # = % & ke B
#  Et 1 % 2 = 3 % [#al1 % | 2% |3 % [Hgsn
it & =& 47473 45,715 484 56 1,218 96.3 1.0 0.1 26
HiLEBE 50,586/ 17,880 30,231 1,371 1,104 35.3 59.8 27 22
5 & 667 83 551 31 2 12.4 82.7 47 0.3
5 F 8,863 7,713 940 44 166 87.0 10.6 05 1.9
= W 4876 872 3,524 478 2 17.9 72.3 9.8 0.0
o= 25,520 1,089 23,053 590 788 43 90.3 2.3 3.1
(1T 7,647 5,658 1,653 191 144 74.0 21.6 2.5 1.9
E B 3,013 2,465 508 37 3 81.8 16.9 1.2 0.1
BREBGE 14,263 11,017 2,801 344 102 77.2 19.6 24 0.7
/N 1,673 1,142 423 92 16 68.3 25.3 55 1.0
m K 605 520 63 18 4 85.9 105 3.0 0.6
BB 55 16 18 20 1 28.8 32.6 374 1.2
B E 78 15 43 16 4 19.6 54.7 20.2 55
F o 9,952 8,044 1,758 133 17 80.8 17.7 1.3 0.2

" = -

= 41 2 35 4 1 46 84.0 9.2 2.2
1Tt 111 25 30 2 55 22.0 27.3 15 49.2
& % 1,299 951 309 39 0 73.2 23.8 30 0.0
&% [ 449 303 122 20 4 67.4 27.1 46 1.0
LEEBE 40,222| 23473 14,697 1,736 315 58.4 36.5 43 0.8
woR 31,498 17,240 12,953 1,066 240 54.7 41.1 34 0.8
E 3,986 2,858 880 220 29 71.7 22.1 55 0.7
| 3,109 1,981 677 408 43 63.7 21.8 13.1 1.4
L 1,629 1,394 188 43 4 85.6 115 2.7 0.2
HEEBE 3,076 1,423 1,472 146 34 46.3 47.9 47 1.1
& B 2,092 1,217 758 91 26 58.2 36.2 43 1.3
Z M 645 149 469 20 6 23.0 72.8 3.2 1.0
= B 339 57 245 35 2 16.9 72.3 10.3 0.4
RREBE 3,661 694 2,529 408 30 19.0 69.1 11.2 0.8
B 2,537 319 1,938 258 22 12.6 76.4 10.2 0.9
m O 170 6 139 22 3 34 81.8 13.2 1.6
X IR 13 3 4 5 1 26.2 28.3 38.2 7.2
E E 841 358 383 97 3 42.6 45.6 1.5 0.3
= B 87 8 60 18 1 8.8 68.8 20.9 15
M 3 12 - 4 7 1 - 34.6 59.4 6.0
o E  E 2 BUS 5,635 1,992 2,949 551 144 353 52.3 9.8 25
£ W 419 215 176 26 2 51.3 42,0 6.2 05
B 1R 1,283 650 504 110 19 50.7 39.3 8.6 15
i 1,441 90 1,155 150 46 6.2 80.2 10.4 3.2
5 B 1,135 464 484 177 10 40.9 42.6 15.6 0.9
WA 730 514 184 25 6 70.5 25.2 34 0.9
m B 70 8 51 7 3 1.5 73.7 9.9 49
EF 184 45 125 11 3 24.2 68.1 6.0 1.7
g 172 3 99 23 46 2.0 57.7 13.3 27.0
= 201 3 170 22 7 1.3 84.5 10.9 3.3
NINEB G 35515 9,862 23,712 1,065 876 27.8 66.8 3.0 25
B @ 3,017 523 2,081 83 330 17.3 69.0 2.8 10.9
& =B 21,720 8,622 12,553 310 235 39.7 57.8 1.4 1.1
£ & 46 - 41 4 1 - 89.2 9.5 13
BE K 10,032 673 8,854 390 114 6.7 88.3 3.9 1.1
X 362 6 132 84 141 1.6 36.4 23.1 38.9
=g 43 - 3 32 7 - 8.0 75.4 16.6
BERE 295 38 48 161 48 12.8 16.3 54.6 16.4
i 2 - - - 2 - - -l 1000
& &t 200,432| 112,055 78,876 5,677 3,824 55.9 394 28 1.9
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(3) EERZK

(B by %)

R _ % & 5 = £ & ke &
BE B E I SE|1FE[2 % Z BB L &1 F(2 %3 ZFggs
it & =& 2,168 - 186 1,936 15 2 30 -| 86| 89.3] 07 o1 1.4
HIiLEBE 12,470 - 634| 10,100 1,347 294 96 -| 51| 81.0] 108 24| o08
5 & 1,317 - 164| 1,093 59 - - -| 125| 830| 45 - -
5 F 895 - - 716 104 67 8 - -| 800l 116] 75/ 09
= W 1,004 - - 305 648 46 5 - -| 304| 646 46| 05
B oH 3,667 - 22 3420 106 88 30 -| o6 933 29| 24| o8
(1T 3,181 - 443 2,382 225 79 52 -| 139 749 71| 25| 16
E B 2,407 - 4| 2185 205 13 0 -| 02| 9071 85 05| 00
BAREB 7,513 11 229| 6,116 671 366 120 o.1| 30| 814 89| 49| 1.6
x W 391 - 30 280 43 34 4 -l 77| 77| 110 87 09
m K 1,523 11 182 998 161 66 105] 0.7 120 655| 106| 43| 69
BB 142 - 2 74 44 21 - -l 17| 525| 31.1| 147 -
w E 178 - 1 119 39 14 6 -l 07| 665 216 77| 35
F o 172 - - 130 36 7 - - -| 75.1| 206| 4.3 -
" = 18 - - - 1 18 - - - -| 44| 956 -
= 165 - - 108 32 25 0 - -| 658| 19.2| 149 02
1Tt 385 - 3 348 15 18 2 -l 07| 903| 38 47| 05
& % 3,921 - - 3653 213 53 2 - -| 932| 54| 14| 00
% [ 617 - 10 406 90 111 1 -| 16| 658 145| 179 02
LEEBRE 16,745 - 125 14,021 2,306 178 115 -[ 0.7 837 138 11| 07
woR 10,409 - 58 8027 2078 136 110 -| os| 77.1] 2001 13[ 1.1
E 3,089 - 2| 3,009 70 4 4 -| o1| 974 23| 01| o1
| 931 - - 826 87 19 - - -| 887 93| 20 -
L 2,317 - 66 2,159 71 20 1 -| 28| 932| 31| 08| 00
HEBBE 1,762 4 634 716 341 65 1| 02| 360 407 194/ 37 o0.1
& B 751 - 437 163 139 11 1 -| 58.1| 218 185 15/ 02
T A 389 - 20 266 91 12 - -| 52| 683 235 3.1 -
= B 622 4 177 287 111 42 -| oe6| 285| 46.3| 179 6.7 -
RREBE 24,695 905 10,026| 5710 2,259| 4,760 1,035] 3.7| 40.6| 23.1| 9.1| 19.3| 4.2
B 1,317 - 111 598 483 67 58 -| 84| 454| 367 5.1 44
-G 729 - 4 340 300 82 3 -| 05| 46.7] 412| 112 04
X R 27 - - 1 3 21 1 - -| 37| 109] 80.7| 46
E E 22,202 905| 9910| 4561 1,338] 4,521 967| 4.1 446| 205 6.0 204| 44
= B 384 - 1 209 111 57 5 -| 03| 546| 289| 148 14
M 3 36 - - - 24 12 - - - -| 659 34.1 -
FPENEEBRE | 12439 14| 2,754| 5645 1,802| 1,565 659] 01| 22.1| 454| 145 126 5.3
5 W 554 - 12 302 144 94 1 -| 22| 545 26.1| 170 02
E B 770 - 10 455 260 43 2 -l 1.3 59.1] 338| 56/ 03
7 5,044 5 172| 2,686 769 908 505 0.1 3.4| 532| 152 18.0| 100
5 B 3,031 2| 1,837 866 161 76 88] 0.1 606 286 53] 25 29
[T 2,079 7 438 1,140 193 244 58] 03| 210| 548 93| 117 28
m B 429 - 285 68 15 60 1 -| 665 158 35| 139 03
EF 31 - - 6 14 12 - - -| 19.4| 434| 372 -
ZF IE 142 - - 84 56 0 2 - -| 587 39.71 01| 15
= 359 - - 39 190 129 2 - -| 10.7| 52.8| 360 05
NI BB 2,177 4 49( 1,344 445 233 102| 0.2 22| 61.7| 204| 10.7| 4.7
= @ 1,107 4 44 735 232 60 31] 04| 40| 66.4| 210 54| 28
B =B 447 - - 277 62 67 41 - -| 620 139] 150 9.2
£ & 65 - - 9 33 15 9 - -| 13.1| 50.3| 22.3| 143
BE K 378 - - 251 61 48 17 - -| e6.6] 16.1] 128 45
X & 157 - 5 72 51 27 3 -l 31| 457 323| 170 19
=g 19 - - - 3 16 - - - -| 158 84.2 -
BERE 3 - - - 3 - - - - -| 100.0 - -

H B -

& &t 79,970 937| 14,636| 45589| 9,186 7,464 2,157 12| 18.3| 57.0| 115 93| 27

E: 1) SUUFDBRCHENRA—BLAEVBELHY £ .
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(4) SHADAHRUEN AR

(BT b %)

8 B EH = (&) |EHREEEH) B EHE (X X)) |FHEERKX)

wE &K [BEN]E K IFEN e[ &%  HEalE % [HEN

t B & 655 655 - 1000 - 45945] 45,933 12] 1000 0.0

RiEBE 17,206 17,206 - 100.0 - 257,132| 257,129 4 100.0 0.0

' & 11,103| 11,103 - 1000 - 47,018 47,018 - 1000 -

A F 2,918 2,918 -l 1000 - 26,104| 26,104 o] 1000 0.0

T W 979 979 -l 1000 - 55,510 55,510 -l 1000 -

# M@ 331 331 -l 1000 - 27,119| 27,119 -l 1000 -

(TTR 1,689 1,689 -l 1000 - 29,620 29,620 -l 1000 -

2 B 187 187 -l 1000 - 71,761 71,758 3] 1000 0.0

BEREBR 15948 15948 -l 1000 - 243,613 243,590 23 100.0 0.0

*x W 4,075 4,075 - 1000 - 77,351 77,351 - 1000 -

LA N 871 871 -l 1000 - 76,918 76,915 3] 1000 0.0

BB 743 743 -l 1000 - 7,069 7,069 -l 1000 -

% E 1,845 1,845 -l 1000 - 18,097 18,094 3 100.0 0.0

F OE 2,565 2,565 -l 1000 - 60,019| 60,006 13 100.0 0.0

B = - - - - - - - - - -

= - - - - - 54 54 -] 1000 -

(T} 96 96 -l 1000 - 8 8 -l 1000 -

E B 1,411 1,411 -] 1000 - 1,519 1,518 1 99.9 0.1

B M 4,341 4,341 -] 1000 - 2,576 2,574 2 99.9 0.1

JEpERBUR 3,259 3,259 - 100.0 - 48,501 48,496 5 100.0 0.0

;o 1,025 1,025 - 100.0 - 24,947 24,947 - 100.0 -

E W 2,080 2,080 -l 1000 - 8,101 8,100 o] 1000 0.0

a 108 108 -l 1000 - 5,357 5,352 5 99.9 0.1

i 46 46 -l 1000 - 10,096 10,096 -l 1000 -

RiEEBE 11517 11,517 - 1000 - 29,828 29,825 3] 1000 0.0

g B 7,029 7,029 - 1000 - 12,025 12,025 -] 1000 -

Z 2,068 2,068 -l 1000 - 9,052 9,052 -l 1000 -

= E 2,420 2,420 -l 1000 - 8,750 8,747 3 100.0 0.0

SRR 3,008 3,008 -l 1000 - 13,471 13,456 14 99.9 0.1

% B 796 796 - 1000 - 9,491 9,491 - 1000 -

"&b 459 459 - 100.0 - 190 190 - 100.0 -

X IR - - - - - 72 72 -l 1000 -

E B 1,742 1,742 -] 1000 - 3,420 3,406 14 99.6 0.4

= B 9 9 -l 1000 - 289 289 -l 1000 -

M & W 2 2 - 100.0 - 8 8 - 100.0 -

o = O = B R 6,364 6,364 -l 1000 - 33,029| 33,028 1 100.0 0.0

E 550 550 - 1000 - 3,011 3,011 -] 1000 -

E B 778 778 -] 1000 - 4,591 4,591 -l 1000 -

3 164 164 -l 1000 - 10,989 10,989 -l 1000 -

L B 2,755 2,755 -l 1000 - 573 573 -l 1000 -

W 1,657 1,657 -l 1000 - 4,229 4,229 -l 1000 -

B - - - - - 3,673 3,673 - 100.0 -

F 296 296 -l 1000 - 251 251 -] 1000 -

Z 17 159 159 - 100.0 - 1,522 1,522 - 100.0 -

= A0 6 6 -l 1000 - 4,190 4,189 1 100.0 0.0

N BB 12,528 12,528 o] 1000 0.0 25593 25,590 3 100.0 0.0

= M| 436 436 - 1000 - 8,072 8,070 2 100.0 0.0

& =B 28 28 - 100.0 - 4,170 4,170 - 100.0 -

E & 497 497 - 100.0 - 179 179 - 100.0 -

B K 574 574 -1 1000 - 6,175 6,175 -l 1000 -

X & 6,022 6,022 o] 1000 0.0 3,385 3,384 1 100.0 0.0

R 2,609 2,609 -] 1000 - 1,025 1,025 -] 1000 -

BEREBE 2,362 2,362 -] 1000 - 2,586 2,586 -] 1000 -

i - - - - - 0 0 - 100.0 -

& &t 70,486| 70,486 o] 1000 0.0 697,112| 697,046 66 100.0 0.0

E: 1) SUCUFDERCHENTA—BLAENVEEA DY £ ,

2) To) FEfIZHERLGZVED. -] FEENEGVEOERLTVET,
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4 BWRBBRENE

(1) KFES55b% %K
(BB b, %)
o = & ke E3
& E ; > % [ 3 % BB
HLNEOMEY % 1,504 65.3 29.3 4.7 0.8
Z A 37,097 84.3 14.3 1.3 0.2
miE % 49 - 73.2 26.8 -
INE 38,649 83.4 14.9 1.4 0.2
HNEDZH T A 533 89.6 9.3 0.8 0.3
FLTY E W 1 - - - 100.0
HEIFLE EF N 21 86.5 135 - -
B K 2,469 86.6 12.1 1.2 0.1
= 19 60.9 39.1 - -
on 8 88 R -
INE 2,509 86.4 12.3 1.2 0.1
HEIHY E W 16 100.0 - - -
B H 9,332 90.4 45 0.6 46
g B 408 63.6 31.2 48 0.3
5 B 11,019 87.3 10.9 1.6 0.2
m OB 7,553 40.8 47.9 9.0 2.3
% I 4,802 36.7 61.5 1.7 0.1
N R 33,130 69.9 25.1 3.1 1.9
HEEFL qF & 1,301 96.5 2.8 0.6 0.2
= F 20,256 97.0 2.0 05 05
= 19 47.3 52.7 - -
/A 283,511 89.0 7.2 0.6 3.3
(1T 3,649 90.3 9.1 0.4 0.2
B B 998 92.4 6.9 0.7 0.0
* 32,997 85.3 135 1.2 0.1
% E 1,020 66.8 30.6 2.3 0.2
F o= 6,270 90.2 9.1 0.7 -
ooE 184 69.7 30.3 0.0 -
= W 9 72.3 - - 27.7
g 15 100.0 - - -
£E % 10,045 95.6 3.7 0.7 0.0
g B 1,988 78.4 20.1 0.9 05
&% M 19 24.2 70.6 5.2 -
Z A 1,543 83.3 15.5 1.1 0.1
= = 1,846 64.8 32.4 2.7 0.2
#H B 1,296 81.2 18.2 05 -
X R 60 - 59.5 40.4 0.1
B E 204 51.0 314 17.6 -
= B 85 51.6 30.9 15.0 2.5
E mW 2 935 6.5 - -
2 8,893 70.3 26.0 2.7 1.1
5 B 1,555 92.7 6.0 0.6 0.7
oo 38 75.3 24.7 - -
s B 47 8.1 438 453 28
= Il 16 37.1 48.4 145 -
2 g 3,110 12.4 79.4 7.3 0.8
=2 0 128 8.7 56.2 28.0 7.1
X % 7 100.0 - - -
=g 34 435 56.5 - -
on T2 8% 4R 1 - 100.0 -
N EE 381,148 87.9 8.8 0.8 2.5
HE-EHY B H -
HEIESY o H -
#HE635 M H 1,060 43 1.3 23.6 70.9
on T8 #4 H -
N EE 1,060 43 1.3 23.6 70.9




(BBI: b, %)
o - =3 & ke E

&h 8 E i w3 = = B

HELDHDL = B 151 98.5 15 - -

*x W 49 484 51.6 - -

m K 218 97.4 26 - -
B -
m E -

F o= 311 711 24.3 46 -

B 1,760 50.0 48.7 14 -

= W 1,507 86.0 9.7 3.2 1.0

g 431 55.8 41.7 - 2.5

E % 233 100.0 - - -

Z A 470 458 51.0 3.2 -

o5 822 66.9 27.0 6.1 -

E E 1,395 420 53.3 48 -

B 1 100.0 - - -

E R 76 100.0 - - -

MW 4 73.0 27.0 - -

L B 354 89.1 10.7 0.2 -

B g 20 - 70.4 29.6 -

B K 41 30.7 30.7 20.7 18.0

X & 202 32.8 39.7 275 -

B 951 2.3 50.2 42.0 5.4

on 8 84 A 555 70.1 29.1 0.8 -

N 9,553 57.5 34.4 7.3 0.9

T7XYik B 71 3.0 37.3 55.9 3.7

NER BE K 11 9.9 86.4 3.7 -

D BB 7,445 83.9 15.4 05 0.2

MDELHE # H 235 99.3 0.7 - -
on 8 84 A =

N 235 99.3 0.7 - -

HEDEL E R B 418 74.8 23.6 1.6

7xEeAHY @ 243 97.1 20 0.0 0.8
on 8 84 A =

INE 243 97.1 2.0 0.0 0.8

HEFHH BE R B 6,711 38.6 52.9 7.2 1.3

HEFEIY B K 1,946 17.3 79.8 2.7 0.2

X % 23 24.8 68.7 - 6.5

in 1E 87 1R 1 - 100.0 - -

N E 1,970 17.4 79.6 2.7 0.3

HEFEDOY [IT=] 41 90.9 5.6 3.6 -

HEAHFA L B 4,308 89.4 9.6 0.9 0.1
on 8 #8 R -

N E 4,308 89.4 9.6 0.9 0.1

TR/ M 17,458 416 495 8.3 0.6
on & §4 -

N E 17,458 416 495 8.3 0.6

L)) BB 5 - 100.0 -

= X 4 - 100.0 - -

N 10 - 100.0 - -

#H M 5318 17.2 55.7 23.8 3.2

n 18 87 1R 1 63.2 36.8 - -

N E 5,319 17.2 55.7 23.8 3.2

HIUVDE *x W 2,799 89.8 8.4 1.7 0.0

m K 19,852 95.1 3.2 0.9 0.9

B OE 25,737 96.0 3.2 0.8 0.0

m E 1,816 79.5 16.2 43 0.1

[T} 548 86.7 11.2 2.1 -

g B 1,411 70.3 22.6 33 38

% [§ 13 71.8 0.5 - 27.8
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(BBI: b, %)

&h 8 E i N = = 3 = (B &

HIVDE(DDF) Z A 504 53.6 18.8 27.7 -
on 8 84 A -

N F 52,680 93.6 46 1.3 0.5

HpE 5 & 195 915 8.5 - -

FHFEONEY % B 25 - - 100.0 -

¥ it &/ & 83 88.4 11.6 - -
¥EA BERE -

HPUVH i & & 687 89.7 5.7 46 -

HHHDY "= B 19 7.1 62.6 25.4 5.0
on 8 # R -

N F 19 7.1 62.6 25.4 5.0

REZEL M M| 587 94.3 5.0 0.7 -
on 8§ -

N 587 94.3 5.0 0.7 -

149EHh) G 532 62.8 20.0 15.0 2.2

= B 52 10.8 55.0 34.2 -

M oW 48 28.9 63.3 2.8 5.0

m B 5 48.8 15.9 - 35.3

2 A0 80 31.0 58.7 10.3 -

iR B 3,617 9.7 73.0 14.8 2.6

N Et 4,334 16.9 65.8 14.8 25

L1 F E 16 45.9 54.1 - -
B K -

miE 8 227 55.7 426 1.7 0.0

N E 243 55.1 433 1.6 0.0

—&E x W 943 93.2 6.6 0.2 -
on 8 84 A -

N E 943 93.2 6.6 0.2 -

LSIEFEN B H# 6,800 95.9 4.0 0.1 0.0

WEIF-ZY B OE 160 82.3 17.1 05 -
on 8 84 R -

N 160 82.3 17.1 05 -
LDLDOE B OB -

1T 7 25 57.3 42.7 - -

*x W 2 65.6 34.4 - -

wm K 25 88.0 5.4 6.6 -

F o 21 95.0 5.0 - -

o8 47 22.3 63.6 14.1 -

E % 51 71.8 15.1 7.1 -

g B 902 62.2 24.9 11.1 1.9

&% M 10 94.3 5.2 0.6 -

Z A 17 8.4 91.6 - -

O 0 50.0 - - 50.0

B & 13 67.2 28.9 0.7 3.2

L B 17 75.5 - - -

N 1,131 62.0 26.2 10.2 15

WhTHE FES 5,207 97.9 1.9 0.2 -

ST A = B 4 100.0 - - -

ZHDHE B 8 100.0 - - -

EHDHE g B 9 100.0 - - -

*x W 5 100.0 - - -

o8 282 97.7 1.0 0.6 0.7

a 9 100.0 - - -
' -

n 18 8% 1R 100.0 - - -

N E 307 97.9 0.9 0.6 0.6

AHED it | & 7,148 95.8 3.6 0.6 0.0
ZHEDD = =B -
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(B b, %)

&h 8 E i “wEt = > = 3 = (B &
IILo——i *x W 1 - 100.0 - -
LGCY 7k = B 14 77.2 22.8 - -

*x W 5 100.0 - - -
g B 7 25.6 74.4 - -
&% M 43 76.1 23.9 - -
& R -
L B 1 100.0 - - -
N Ft 70 73.1 26.9 - -
BEY m K 3 100.0 - - -
ES ) 12 4.9 93.9 - 1.2
E W 1 - - - 100.0
= H 15 - 100.0 - -
E % 66 - 79.6 20.4 -
g B 68 - 90.1 8.6 14
&% M -
Z A 187 - 99.1 0.9 -
= = 22 215 78.5 - -
B 75 - 96.0 4.0 -
" O -
5 7 7.8 92.2 - -
& R 115 - 76.1 23.3 0.6
L B 51 - 100.0 - -
B K 1 - 100.0 - -
on 8 #4 R 11 60.2 39.8 - -
N E 634 2.4 89.1 8.0 0.5
BLTEL E 3,926 80.3 18.6 1.2 -
AL %;‘ jn 505 - 100.0 - -
on 8 84 A =
/1\ =t 505 - 100.0 - -
KRS A B B 525 96.5 35 - -
1*, * 311 - 87.6 9.6 2.8
= & 196 0.6 99.4 - -
,}i 5 666 8.5 79.0 12.4 -
T FE 8 1A 684 21.4 76.1 15 1.0
/J\ £t 2,382 29.9 64.3 5.2 0.6
BEIZLW T W -
2 B -
N -
PTAEETED £ & 8 23.7 76.3 - -
w7 926 68.0 24.3 5.4 2.4
o 8 88 R -
N 934 67.6 24.7 5.3 2.3
BlEADE it &/ & 6,831 93.3 5.9 0.6 0.2
BhoEA E W 2 - - 100.0 -
M PR T W 10 100.0 - - -
E & 37 98.5 15 - -
N E 47 98.8 1.2 - -
mIFIEL "2 F 127 93.6 6.4 - -
on 8 84 4R -
N E 127 93.6 6.4 - -
BSomn E % 6,155 90.4 9.2 0.4 -
BNELS M H 64 71.7 14.9 8.2 5.2
EDE s -
HERE *x W -
o8B 10 - 98.2 1.8 -
on 8 84 R -
N E 10 - 98.2 1.8 -
HEDRE ] 571 92.9 6.4 0.7 -
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(B b, %)

o - =3 & ke E3
&h 8 E i “wEt = = B
HEDR (DDE) E E 6 45.7 433 - 11.0
N 1 100.0 - - -
on & §#4 -
N E 578 92.4 6.8 0.7 0.1
I %2075 g B 65 65.8 31.6 2.6 -
=KYA i &/ & 8,283 98.9 1.0 0.2 -
L InfE it &/ & 13 38.8 61.2 - -
FXeAhH) = 15 90.0 10.0 - -
% 142 88.2 11.8 - -
B E 13 53.1 26.5 20.4 -
m E 1,501 88.7 9.9 1.3 0.2
= 198 30.0 65.9 3.9 0.1
I 563 84.6 15.4 0.0 -
B H 194 52.6 1.0 46.4 -
E % 150 98.6 1.4 - -
g B 19 100.0 - - -
&% M 267 61.9 34.8 3.1 0.2
F A 41 27.3 72.7 - -
= =B 3,768 32.7 62.5 46 0.1
OB 15,927 40.8 55.3 38 0.1
= 3,000 60.1 30.7 7.2 2.0
X M 1,112 21.7 51.1 26.2 1.0
E & 8,367 40.8 51.6 7.1 05
= B 219 66.3 29.8 3.6 0.3
M 3¢ W 1,490 10.3 73.0 15.0 1.6
[ W 774 61.4 33.7 4.7 0.1
L B 75 6.7 53.0 38.3 2.1
m OB 690 30.2 51.8 15.2 2.8
EF 5 - - 100.0 -
B IE 415 61.1 30.4 7.0 15
= Al 0 - - - 100.0
B K 4,351 0.3 66.3 29.2 4.2
on 8 84 A 4 23.0 29.4 476 -
N E 43,303 39.0 51.5 8.6 0.9
EHLTH % [ 3,817 78.4 16.5 45 0.6
Z A 16 56.3 437 - -
= E 327 38.3 44.9 15.0 1.8
# OB 4,085 95.0 4.2 0.8 0.1
O 10 86.4 13.6 - -
X R 241 51.9 36.6 11.4 -
E & 5,046 70.0 27.5 2.3 0.2
1 I W 1,435 48.0 481 35 0.4
E mW 11,679 71.6 21.0 1.1 0.2
5 R 19,674 80.6 16.1 2.2 1.1
M W 11,891 76.2 22.3 1.2 0.3
5 B 341 99.6 0.1 0.4 -
1T 7,548 88.7 9.9 1.0 0.4
B g 69 72.0 28.0 - -
=2 0 56 0.5 62.6 27.6 9.3
n T8 87 1R 93 98.2 1.8 - -
N E 66,327 79.2 18.4 1.9 0.5
HiENE 2 1 100.0 - - -
Rt Ep 2O 439 94.0 55 05 -
RDES E_# 2,411 86.8 12.1 1.1 -
FI=F o H 70 100.0 - - -
EIES =2 F 173 97.8 2.2 - -
=55397 it &/ & 36,819 96.4 1.7 1.9 0.0
EHYA E % 101 99.1 - 0.9 -
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(B b, %)

o - =3 & ke &
&h 8 E i N T = = B
EBYA(DDF) on 8§ -
N 101 99.1 - 0.9 -
2DOLVRE = O 1,819 11.8 43.1 428 2.3
M H 161 25.4 19.4 55.2 -
W 13 18.0 82.0 - -
7 | 0 - 100.0 - -
L B 9 100.0 - - -
1T 13 43.0 515 55 -
N E 2,015 13.5 413 43.0 2.1
ZFADHH M M| 214 99.0 - - 1.0
o 310 94.4 5.6 - -
E % -
B [ -
N E 524 96.3 3.3 - 04
Eopn g B -
15 EH5H % M -
A 53 36.7 46.2 17.1 -
N E 53 36.7 46.2 171 -
R DLTK< a2 F 11,126 99.3 0.7 0.0
EFALSA M H 2,034 69.0 22.5 7.8 0.6
on 8 84 A =
N 2,034 69.0 22.5 7.8 0.6
CESADFES S 4253 29.2 62.9 7.3 0.6
ESADH BE X 2,791 53.7 37.6 7.3 14
EL90 E W 2 - - - 100.0
TERO<L 2 [ 19,644 82.7 15.7 1.0 0.6
FAEES = W 756 89.2 10.7 0.1 -
EHL oA 48 - 100.0 - -
L B 2 - 100.0 - -
E & 63 53 63.6 30.8 0.2
N E 113 3.0 79.7 17.2 0.1
pNOR 473 wm R -
F o 1 100.0 - - -
X & -
M W 109 81.1 17.2 1.7 -
L B 1,885 78.9 16.5 4.2 0.4
1T 1,595 85.2 13.3 14 0.1
X % 437 14.8 57.0 215 6.7
n 18 87 1R 18 91.6 8.4 - -
N Ft 4,046 74.6 19.6 49 0.9
—WhWEHL L B 279 87.1 12.1 0.8 -
o 8 8 R -
N E 279 87.1 12.1 0.8 -
"ER = 15 - 49.4 29.9 20.7
=L 9 65.6 19.3 15.1 -
N 24 25.2 37.8 24.2 12.7
Lol = =B -
__AFEDL = W -
ZLLVRE o B8 91,417 54.7 441 1.1 0.2
HRB 4 ) 23 100.0 - -
on 8 84 R -
N 23 100.0 - - -
HDOMEY ) 9 345 - 65.5 -
& R 10 - 100.0 - -
on 8 84 A 14 - - 100.0 -
N5 33 9.3 31.0 59.6 -
av kA HF #H 2 100.0 - - -
52 _F 52 97.9 2.1 - -
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(BBI: b, %)
&h 8 E i “wEt T = > = 3 = (BB
aTEAY) (DDE) T W 1,097 94.6 5.3 0.1 -
#? H 179 915 5.1 2.3 1.1
e 7,084 95.6 4.1 0.3 0.1
E B 117,790 96.5 3.2 0.2 0.0
% 120,143 60.2 36.9 2.5 0.4
WK 109,336 92.6 6.9 0.5 0.1
B E 2,178 57.5 404 2.0 0.1
% E 10,854 25.7 53.8 18.2 2.3
F o= 73,770 83.7 15.5 0.6 0.2
wm o= 28 325 64.2 33 -
oo 297,392 80.3 19.1 0.4 0.2
= W 95,885 87.0 11.9 0.6 05
g 46,680 79.4 18.1 2.1 0.4
= H 34,799 86.4 7.9 1.0 4.7
T 5,321 90.8 8.4 0.8 0.0
E % 77,203 98.1 1.6 0.2 0.0
g B 10,060 59.5 35.8 3.4 1.3
&% [ 15,200 84.4 13.1 2.1 0.4
F A 17,286 6.4 80.3 12.8 05
= =B 49,617 37.3 59.6 3.0 0.2
o5 30,539 53.3 448 1.6 0.3
= O 12,177 65.3 30.3 3.7 0.8
X 70 48.3 38.4 12.4 0.9
E & 24,304 36.6 57.8 5.0 0.6
= B 701 93.2 43 2.0 0.4
M 3¢ W 397 2.5 67.1 27.7 2.7
E 10,379 37.0 58.5 4.1 0.4
5 IR 18,834 58.7 325 8.0 0.8
M W 9,954 80.5 175 1.3 0.6
5 B 23,466 87.7 11.2 0.9 0.2
1T 10,403 79.4 18.1 14 1.0
OB 14,257 49.2 445 5.4 0.9
F ) 6,841 2.2 67.7 30.0 0.0
B IE 8,501 52.9 428 3.9 0.4
= A0 13,417 16.0 68.2 12.9 29
= M 1,057 2.7 93.9 3.0 0.4
k B 3,417 87.5 10.7 1.7 0.1
E & 1,810 31.3 62.3 5.7 0.7
B X 7,978 62.5 31.2 4.4 1.9
X % 1,399 67.3 22.0 8.7 2.0
w7 16,031 73.8 215 3.7 1.0
BE R B 4,668 426 50.2 6.0 1.2
on 8 #4 R -
N E 1,312,553 75.6 22.0 1.9 0.4
aLEAJER1S A -
CHRREVSH g B 3 - - 100.0 -
=] T W 22 815 185 - -
M H 39 100.0 - - -
E B 36 95.8 4.2 - -
% E 93 89.9 4.6 55 -
F o= 270 97.0 3.0 - -
o o8 97 - 74.8 25.2 -
a 1 - 100.0 - -
s H# 26 100.0 - - -
T} 84 94.0 6.0 - -
E % 83 98.8 1.2 - -
OB 1 100.0 - - -
i fE 8 AR -
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(BBI: b, %)
o - =3 & ke E
&h 8 E i “wEt = = B
HEI(DDF) N F 752 83.1 13.0 3.9 -
JaEHY B -
EENDAE =2 F 1,122 93.0 6.8 0.2 -
SLES53B & B -
EDHhHPE i E 18,608 93.6 5.8 05 0.1
PAOEERAN B E 16,124 77.4 21.0 14 0.2
FEDIZIFEZH B E -
EDHDY B E -
SHAUVELY k B 18,688 56.2 411 2.7 0.1
SEUMY = 7 25.7 74.3 - -
=19 . H 3,826 97.7 1.0 0.0 1.3
HH 5L =R 36 37.3 54.5 2.1 6.1
Yy x "2 F 381 83.1 14.6 2.2 0.1
=/ O 13,346 94.3 438 0.2 0.7
o H 839 87.0 12.3 0.5 0.2
o 1,233 82.0 175 0.4 0.2
= B 63 95.1 49 - -
m K 5 - 22.6 77.4 -
' 13 48.0 52.0 - -
n 1E 87 1R 24 27.6 31.0 226 18.8
N E 15,904 92.5 6.5 0.3 0.6
SEXRE = W -
SELFEA wm = 71 27.8 71.6 0.6 -
B =B 184 39 92.6 1.2 2.3
on 8§ -
N 255 10.5 86.8 1.0 1.6
BowE T 1 79.2 20.8 - -
BILODA T B 9,698 93.5 5.8 0.7 0.0
IHELLVEL & 94 - 100.0 - -
=hh sy = A 25 0.9 34.0 54.3 10.8
SHDIEE w 40 78.3 14.3 7.1 0.3
ShUumny B OE 1 - 100.0 - -
SASAED it &/ & 797 78.7 19.5 - 1.7
LALDHDY M H 151 92.9 6.9 - 0.2
BEK 1= g B 11 98.7 1.3 - -
&5 T W 14 - 90.3 9.7 -
S 56 - - 98.5 15
E W 13 - - 100.0 -
a 6 - 100.0 - -
5 1B 5 - - 100.0 -
N E 94 - 19.9 79.2 0.9
FEZZIH m K 3 82.5 175 - -
m E 176 93.0 7.0 - -
n 18 87 1R 8 100.0 - - -
N Ft 188 93.1 6.9 - -
2B a8 20,021 97.7 1.8 0.1 0.4
RAR/—18—=)L o H 51 - 100.0 - -
BRDEE g & 11,224 96.3 35 0.2 0.0
2EDIZL 1T 13 82.7 17.3 - -
TRk o o8B 89 99.0 1.0 - -
on 8 # R -
N E 89 99.0 1.0 - -
TohE it &/ & 3,159 100.0 0.0 - -
Kb A S | 1,617 56.4 42.0 16 -
n 18 87 1R 71 100.0 - - -
N F 1,688 58.3 40.2 15 -
Kt 2 it &/ & 1,119 70.3 11.3 18.5 -
=hi-Dr & = F 224 99.9 0.1 - -
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(BBI: b, %)
o - =3 & ke E
AR jﬂé iﬂ_’, hes u+ 1 % 2 % 3 % fﬁ, *ﬁ %
f=hh#nY M H -
B B 60 100.0 - - -
N Ft 60 100.0 - - -
f-hnESY B R B 50 4.2 32.7 63.1 -
=&=<T =R 47 18.6 80.4 1.1 -
f=b(F5Hn E E 55 82.3 17.7 - -
= 0 18 - 62.2 37.8 -
B A 555 1.9 97.0 1.0 -
X & 82 - 97.6 24 -
n 18 87 1R 266 26.6 63.3 10.1 0.1
N 975 13.0 82.8 4.2 0.0
ECTEE B W 3,050 99.1 0.9 0.0 0.0
AEDE = B 1,085 0.8 715 27.7 0.1
B5IZHDY "2 F 77 100.0 - - -
B OM 586 97.2 2.0 - 0.7
M H 4,561 76.4 19.1 3.2 1.3
(TR 7 297 100.0 - - -
B B 1,176 86.8 13.1 0.1 -
o8B 794 56.0 39.7 33 0.9
E & 715 55.6 40.9 3.2 0.3
n T8 87 1R 187 83.4 12.6 2.4 1.6
N E 8,394 76.8 19.9 2.4 0.9
55U MY Pl ] 188 21.1 72.6 - 6.2
on 8 84 A =
N E 188 21.1 72.6 - 6.2
FO-o % B B 2,678 88.1 10.3 14 0.2
% 1,198 79.6 18.2 2.2 -
F A 306 99.0 0.9 0.0 -
on 8 84 A 12 - 100.0 - -
INE 4,194 86.2 12.2 15 0.1
SpHOT 5 & 18,462 90.3 8.7 0.8 0.2
2EHMY T & 369 83.8 16.2 - -
& F 1,518 86.8 7.3 5.7 0.2
T W 3,474 89.5 9.8 05 0.2
# H 590 81.8 18.2 - -
1T 7 806 91.7 8.3 - -
B B 1,980 81.9 16.7 1.1 0.2
*x W 55 35.1 64.9 - -
F o= 394 55.7 443 - -
o8B 9,127 24.3 71.6 35 0.6
= W 918 36.8 58.2 4.1 0.9
g 2,192 85.9 13.1 0.9 0.1
= H 303 71.7 17.3 5.0 -
E % 1,281 94.6 5.3 0.2 -
E E 748 40.2 476 10.4 1.8
E R 137 325 485 19.0 -
L B 645 93.5 6.3 0.0 0.2
on 8 84 AR 407 62.6 36.3 1.1 -
N E 24,943 59.8 37.3 2.5 0.4
Yoo RTL = M| 1,432 18.9 69.7 11.2 0.1
on 8 84 A =
N E 1,432 18.9 69.7 11.2 0.1
KLAFEA 2 94 1.1 94.6 43 -
KIEXSD1&E T W -
M H -
(TR 7 811 100.0 - - -
= B 223 100.0 - -
% 637 32.3 35.1 32.0 0.6
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(BBI: b, %)
&h 8 E i “w o Et T = = 3 = (B &
KIEXSD1E(DDF) F ¥ -
o8 677 30.7 59.2 10.1 0.0
E W -
s H# 562 7.8 75.1 13.7 3.4
% [ 24 3.7 96.3 - -
# OB 83 58.9 40.2 0.9 -
L5 B 13 100.0 - - -
B K 34 - 34.1 61.6 43
n F8 §7 66 115 88.5 - -
N E 3,132 49.9 37.5 11.8 0.8
2KILsDh2& o H -
o 10 18.8 51.9 29.3 -
B B 2,727 97.6 2.4 - 0.0
% W 352 81.9 16.8 1.3 -
oo 188 80.1 19.9 -
= W 2,525 915 6.1 2.2 0.2
on 8 84 AR =
N E 5,801 93.3 5.6 1.1 0.1
Y F E 6,878 78.1 20.4 1.3 0.2
DARFEAL B | 642 91.8 7.7 0.5 -
on 8 84 A =
N &t 642 91.8 7.7 0.5 -
DAPE 5 & Z
2PEED 2 315 2.8 97.2 - -
DHELY g I8 2 100.0 - - -
& [ 4 - 100.0 - -
A 1 - 100.0 - -
N E 7 28.0 72.0 - -
DR B W 23,131 95.3 36 0.4 0.7
e 51,938 98.8 1.1 0.0 0.0
T 35 76.7 23.3 - -
g B 55 87.5 6.8 - 5.7
M 3¢ W 105 25.7 70.9 3.4 -
E IR 6,018 70.3 27.6 2.0 0.1
kB B 131 100.0 - - -
E & 635 78.1 12.7 0.3 8.9
X % 2,867 54.0 38.0 6.9 1.1
G 88 77.5 225 - -
N E 85,004 94.0 5.1 05 0.3
HPELY W 240 89.7 9.8 0.5 -
ThZtY wm = 467 455 54.1 0.4 0.0
= W 9,765 96.3 3.3 0.3 0.1
N E 10,232 94.0 5.6 0.3 0.1
XEDEF kB 106 1.0 99.0 - -
Tht=hH¥ = U 17,796 94.4 43 1.1 0.3
X R 5 - 77.3 22.7 -
B I 49 39.0 57.8 3.2 -
N E 17,849 94.2 4.4 1.1 0.3
EDD A5 E B 37,144 94.8 438 0.3 0.1
XKEZLLX E % 232 76.6 18.2 5.2 -
on 8 84 iR =
N E 232 76.6 18.2 5.2 -
FHiL1948 = W 660 95.5 4.1 0.0 0.4
EhEED E W -
b E 27 - 84.9 15.1 -
TiE8R = A 12 - 451 54.9 -
LEEDE m_ R 25,623 96.9 25 0.4 0.3
rREFXFDOE o8 418 - 98.9 1.0 0.1
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(BBI: b, %)
o - =3 & ke E
&h 8 E i “wEt = = B
FrOFDE(DDF) i 8 -
N 418 - 98.9 1.0 0.1
ERDHH *x W 112 63.9 36.1 - -
wm K 5 100.0 - - -
m E 40 14.0 52.4 33.6 -
F o= 45 51.7 48.3 - -
on 8 84 AR 61 51.7 496 - -
N 263 51.7 432 5.2 -
EFAEM o 284 97.7 2.3 0.0 -
on 8 84 AR -
N 284 97.7 2.3 0.0 -
E=E =F 27 421 57.9 - -
T W 238 88.6 8.3 2.7 0.4
on 8 84 AR =
N E 265 83.8 13.4 2.4 0.3
2BiE15 24 76 - 93.7 5.3 1.0
on 8 84 AR =
N 76 - 93.7 53 1.0
EkoHE *x W 2,491 68.4 30.8 0.8 -
F o 124 76.2 22.7 1.1 -
g N 388 38 73.2 13.4 9.5
E & 222 185 58.9 22.6 -
5 &0 51 - 17.4 724 10.2
B K 416 - 42.2 57.0 0.8
BE R B 165 - 65.2 30.4 4.4
on 8 84 A 114 - 838 16.2 -
N E 3,971 46.7 40.3 11.7 1.3
EAEZY E ) 60 29.4 45.9 24.6 -
2 W 89 26.0 4.9 69.2 -
g n 29 12.8 87.2 - -
= B 231 12.2 78.7 9.1 -
B 89 79.4 20.2 0.4 -
E E 1,823 59.7 36.4 3.9 0.0
L B 12 84.7 15.3 - -
on 18 84 4R 4 100.0 - - -
N 2,336 53.3 39.5 7.2 0.0
EATULRY a2 F 2,183 97.6 14 - 0.9
RAEFHFR E E 110 35.2 64.8 - -
M W 139 0.6 1.6 97.8 -
5 B 1,096 91.9 7.2 0.6 0.2
1T 1,423 46.0 456 8.1 0.2
n T8 87 1R 92 51.3 48.7 - -
N 2,861 61.2 29.6 9.0 0.2
A vk x W -
% E 2 - 100.0 - -
F % -
o8B 5 - 35.4 64.6 -
4 -
N 7 - 57.1 429 -
BIYpE I -
A ROy m_K 7,191 94.2 5.2 05 0.1
A RV = = 1,268 81.2 17.8 1.0 -
BoELY T 1,013 94.3 5.7 - -
HOLgH &% M 77 95.5 0.4 42 -
on 8 88 R -
N 77 95.5 0.4 4.2 -
BEDOXH =g 1,766 15.6 61.8 22.0 0.6
+YEHY = A 181 21.3 515 215 5.8
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(BBI: b, %)

&h 8 E i “wEt = = 3 = (B &
FYEH) (DDF) on 8 88 R -

N E 181 21.3 51.5 21.5 58

IRSIEINY N £ 1% 3,380 28.1 68.1 35 0.3

X % 2,273 51.7 39.6 7.1 1.6

BE R B 3,478 25.2 62.9 9.0 2.9

N OE 9,132 32.9 59.0 6.5 1.6

HEDIFEL it &/ & 224911 96.6 3.2 0.2 0.0
e = =B -

BEEZES = 491 27.6 66.3 5.9 0.1

futut ) m K 6 80.6 19.4 - -

% E 49 98.8 - 1.2 -

F o= 10 40.0 60.0 - -

= W 109 96.6 2.5 - 0.9

g 30 100.0 - - -

= H 45 100.0 - - _

&% M 1,879 83.8 12.3 25 1.4

Z A 280 78.3 215 0.2 -

o5 840 95.7 3.6 05 0.2

= O 24 61.9 27.2 10.9 -

X M 430 71.7 27.6 0.6 -

E & 186 441 49.8 5.0 1.0

M 3¢ W 260 63.7 30.8 33 2.2

5 R 282 46 81.2 14.2 -

M W 4,654 38.0 53.7 8.2 0.2

5 B 86 80.8 18.8 0.3 -

1T 229 78.4 21.0 0.6 -

= 131 23.1 72.8 4.1 -

2 OIE 2,997 35.9 60.3 3.0 0.8

=5 1,624 20.0 71.9 6.5 1.6

7 M| 853 9.3 83.4 6.5 0.8

k B 120 24.6 65.1 10.4 -

E & 4,436 1.6 91.1 7.0 0.4

N 2,682 55.8 41.4 25 0.3

X % 934 8.9 47.3 40.3 35

I 211 25.2 58.3 14.3 2.1

BER B 73 29.1 66.4 45 -

. 8 MR 31 91.3 8.7 — -

INOE 23,493 37.2 55.5 6.6 0.7

ICLDELHHE *x W 5718 87.2 12.0 0.8 -

m K 955 88.1 11.4 0.4 -

B B 1,752 92.6 7.1 04 -

F o= 665 93.2 5.8 1.0 -

o oB 3,889 78.3 20.3 1.3 0.1

g B 1,341 27.0 66.6 3.1 33

% [E 847 81.0 17.4 1.6 -

E A 356 85.5 14.5 - -

= = 455 39.0 60.8 0.2 -

o5 860 80.6 17.9 15 -

M 3¢ W 39 35.3 57.6 0.8 6.3

M W 5 100.0 - - -

k B 189 30.4 62.0 5.0 2.7

INE 17,071 78.6 20.0 1.1 0.3

EEN % 80 77.1 20.1 2.7 -
wm R -

% E 86 53.8 19.0 16.2 11.0

= W 7 72.5 21.0 - 6.6

g 947 99.9 0.1 0.1

E H# 2,628 95.1 4.6 0.2 0.2
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(BBI: b, %)
o - =3 & ke E

&h 8 E i w3 = > = 3 = (B &

AR (DDX) g B 11 145 54.7 19.7 11.2

# ' 7,462 81.7 17.0 1.3 0.0

O 149 92.6 2.6 4.7 -

E E 650 53.6 45.7 0.7 -

M oW 19 12.5 78.8 8.7 -

B 49 83.1 7.3 9.6 -

2 23 55.5 37.0 75 -

1T 3,377 92.2 6.6 0.4 0.8

s B 2 95.8 42 - -

B B 21 46.8 53.2 - -

on T2 8% 4R 1 100.0 - - -

N 15,511 85.9 12.8 1.0 0.3

gl IRE= = A 33 1.6 93.8 4.6 -

EMR1E a8 2 87.8 12.2 - -

BM218 a )l 3 40.7 59.3 - -

BE#485 T 220 31.9 62.3 5.8 -
on 18 #4 -

N E 220 31.9 62.3 5.8 -

BEZUMNY A 945 83.5 11.0 5.1 0.4

FLNSA % W 18 - 100.0 - -
g B -

&% M 2 100.0 - - -

F A 7 - 100.0 - -

2 10 1.2 98.8 - -

on T8 # W 14 - 87.1 12.9 -

N 51 43 92.1 35 -

NAT)yRESTH3E *x W 323 18.6 75.4 6.0 -

= H 45 - 100.0 - -

g B 15 100.0 - - -

How 426 23.1 76.1 0.8 -

on T8 84 W 55 - 96.8 3.2 -

N E 864 20.1 71.0 29 -

NAT)yRESTS45 M H 975 17.7 78.2 4.1 -

on T2 88 4R 16 - 100.0 - -

N B 991 17.4 78.6 4.0 -
EINES) BB -
Xz hE BoH -

e 174,907 95.5 4.2 0.3 0.1

B B 257 100.0 - -

*x W 3 - - 100.0 -

R 2 100.0 - - -

= H 140 93.0 7.0 - -

& 12 - 100.0 - -

n T8 §7 20 30.8 30.0 39.2 -

N 175,342 95.5 4.2 0.3 0.1

FEDMEY =R 0 100.0 - - -

(F1=lE>F-A R 3 78.7 21.3 - -

= H 1 100.0 - - _

N 5 84.7 15.3 - -

EAHDY T 580 86.1 12.1 0.7 1.1

INYSE g B 24,640 73.1 22.2 1.8 2.8

Z A 309 84.8 12.2 3.0 0.0

on 8 84 A 3 100.0 - - -

N 24,952 73.3 22.1 1.9 2.8
NFIFEY = W _

g 1,519 80.4 17.2 1.9 0.4

E H# 27,838 92.0 3.7 05 38

o' 685 70.2 29.3 05 -




(BBI: b, %)
o - =3 & ke &=
& 8 E i “wEt = > = B
NFIFE(DDE) E E 160 16.7 78.7 46 -
M oW 45 430 54.9 2.1 -
B 4 91.5 8.5 - -
E R 664 72.2 24.1 2.5 1.2
m B 547 57.0 37.3 49 0.8
n 18 87 1R 1 - 100.0 - -
N E 31,463 89.5 6.4 0.7 3.4
E+X3Y = W -
(1T 1 100.0 - - -
E W -
= -
1T -
N 1 100.0 - - -
FhaEoF BE R B 3 - 100.0 - -
(XD W 2 100.0 - - -
I B 13 51.9 18.4 16.0 13.7
N 15 58.5 15.9 13.8 11.8
[X5H *x W 50 67.2 32.8 - -
= 2,869 453 53.2 1.4 0.1
m B 37 105 72.2 17.3 -
N E 2,956 453 53.1 1.6 0.0
555 W o 1,196 85.5 10.9 0.8 2.8
Fnibhi=Y 5 5 375 89.3 10.7 - -
Exl = A 52 - - - 100.0
EAva4 B H# 30 85.5 145 - -
UhES E & 180 441 55.9 - -
2 56 46.8 53.2 - -
= A 11 93.7 6.3 - -
B K 122 56.5 38,5 49 -
n 18 87 1R 16 51.1 298 13.3 57
N 386 50.2 475 2.1 0.2
EAU#FHHE wm K 6 100.0 - - -
F ¥ -
o oB 5 73.8 22.4 38 -
= E 26 58.0 385 35 -
# OB 10 - 100.0 - -
O 12 100.0 - - -
E E 4 0.8 96.7 2.5 -
M oW 115 - 100.0 - -
B 1 - 100.0 - -
W 4 28.9 6.6 62.8 1.7
L B -
s B -
F N -
= A 0 - 100.0 - -
BE K 148 - 42.2 56.6 1.1
N 330 11.2 61.9 26.4 0.5
EAYwva = AN 7 - 55.8 44.2 -
DEDHIFN qF & 4 100.0 - - -
= F 123,804 96.9 2.6 0.2 0.3
= 166,461 97.1 1.6 0.1 1.2
M H 25,410 93.7 2.8 0.7 2.8
(1T 15,863 96.3 35 0.2 0.0
B B 45,594 95.4 4.2 0.3 0.1
* 1,305 71.8 26.4 15 0.4
wm K 145 94.7 4.2 - 1.1
B OE 1,049 255 72.8 1.6 0.1
F o 436 93.4 6.4 - 0.1
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(BBI: b, %)
& E k| B V715,213 2 [RER
VEDIEN(DDF) S 426 61.4 36.1 25 -
E W 23 924 - 0.7 6.9
a 214 70.7 26.6 2.0 0.8
s H# 67 91.4 8.6 - -
[T} 83 87.9 12.1 - -
E % 602 98.2 1.8 - -
g B 1,210 36.5 57.7 3.9 1.9
&% [ 219 62.0 30.0 8.0 -
F A 384 18.3 815 0.2 -
= E 19 30.6 69.4 - -
o5 417 62.6 32.3 5.1 -
X 2 70.7 29.3 - -
= B 764 83.4 14.4 1.8 0.4
B 6,596 35.6 61.1 3.1 0.2
M W 869 69.3 28.3 1.0 1.3
5 B 2,871 85.9 13.8 0.2 0.1
1T 8,492 70.1 26.4 2.9 0.6
wm B -
2 IE 14 90.0 10.0 - -
=2 4 - 91.0 9.0 -
N 385 53.5 42.6 3.4 05
X % 3,882 72.5 23.9 3.0 0.6
O 1 - 100.0 - -
e ] 1,039 48.6 29.0 18.8 3.6
on 2 6 84.1 - 15.9 -
INE 408,660 93.9 4.9 0.4 0.8
E/EAHY M1 372 33.3 65.5 0.9 0.3
g B 3 - - 100.0 -
% @ 236 94.7 45 0.8 -
= = 54 75.4 24.6 - -
o5 318 90.3 9.6 0.1 0.0
= O 3,024 62.8 33.3 35 05
X 3,104 58.5 38.1 3.4 0.1
E & 10,955 65.5 30.6 3.7 0.2
= B 12,948 94.2 4.7 0.9 0.2
n il 302 16.9 76.0 6.6 0.5
B 11 - 6.0 94.0 -
& 60 - 68.7 31.3 -
M W 6,907 428 49.2 7.4 0.6
5 B 1,912 69.8 26.8 2.9 05
1T 5,532 65.8 29.5 43 0.4
OB 457 40.6 55.1 33 0.9
5 ) 6,297 15 95.0 33 0.2
2 g 4,432 22.1 70.4 6.9 0.6
=2 40 2,755 6.2 72.3 18.3 3.3
& [ 21,892 9.7 88.1 15 0.7
k B 7,710 419 55.6 2.4 0.0
E & 2,582 2.8 87.2 9.9 0.0
N 32,180 27.7 67.8 38 0.7
X % 14,625 41.2 43.0 145 1.3
B 12,995 8.8 68.6 20.5 2.2
BE R B 15,693 25.7 60.5 12,5 14
n 18 87 1R 3 - 100.0 ~ -
INE 167,358 35.1 57.3 6.8 0.8
BEOH *x W 15 100.0 - - -
5 B 15 12,5 87.5 - -
= ) 72 70.7 28.3 1.0 -
2 M 15 29.1 70.9 - -
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(BBI: b, %)
&h 8 E i “wEt = = B
ESDH(DDE) m.iE # 17 75.9 24 1 - -
N E 135 63.3 36.1 0.6 -
VOHDE T B 1,996 440 53.7 2.0 0.2
DoSFEAF a 11,242 93.1 6.4 0.2 0.2
EEDPHELD E & -
AMDUVE g [ 1 38.9 44.4 16.7 -
= Z  [H 160 - 5.8 74.7 19.5
ANEH 2 B -
29tAhHY E W 1 100.0 - - -
= H 2 - 46.4 53.6 -
O 1 100.0 - - -
kE E -
T IE 0 100.0 - - _
= 0 184 10.0 60.6 215 2.0
o 8 88 R -
N E 188 11.1 59.6 27.4 1.9
SAMOUE M H 29 100.0 - - -
ALED * 4670 87.9 115 0.5 0.1
SEHTH g H 12 100.0 - - -
EEIR 2 B 255 97.9 2.1 - -
SIEEDH F OE 19,403 95.0 46 0.4 0.0
AEThHa F = 37,251 90.5 8.9 0.6 0.1
SoKYAC it &/ & 29,025 96.3 3.4 0.2 0.1
EEE = W 7,022 95.6 3.9 0.3 0.1
Tt ZAMEY E I 10 - 100.0 - -
RoLA LB -
LfE1938 AN 45 - 47.0 53.0 -
o 8 88 R -
N 45 - 47.0 53.0 -
ZLLAL % I 2,385 85.1 13.3 1.6 -
m K 1,869 95.0 4.0 1.0 0.0
g B 4,780 63.7 35.1 1.0 0.3
Z 303 56.0 36.2 7.8 -
= B 1,626 22.7 71.9 5.3 0.2
w7 309 11.6 43.7 441 05
on T8 87 1R 1,893 62.6 33.3 40 0.2
N E 13,164 65.4 31.2 3.2 0.2
B E 4,961 75.6 23.8 0.6 0.0
ELDWPD S it i & 1,772 97.9 1.8 0.2 0.1
FLED i i\ & 134 100.0 - - -
R 18h B -
FoMYA 5 & 50 95.2 48 - -
EJESESDYL i A -
FOITOE 5 F -
B B -
*x -
g N -
B H 142 32.4 63.2 - 4.4
E % 60 100.0 - - -
# ' 16 46.6 53.4 - -
O 1 - - 100.0
E E 66 18.2 76.9 4.9 -
s B -
B XK 168 23.1 54.9 21.1 0.9
on 8 84 R 8 - 100.0 - -
N E 461 35.6 54.2 8.4 1.8
EINOY = 254 36.4 375 23.9 2.2
& 8 # H -




(BBI: b, %)
o - =3 & ke E
&h 8 E i “wEt = = B
FLOMY (DIF) N 254 36.4 37.5 23.9 2.2
EJAYON) = B 82 88.7 10.8 0.5 -
o 8 # R -
N E 82 88.7 10.8 0.5 -
FoLLS T & 157,537 92.7 6.7 0.6 0.0
WIL=# T B 518 12.0 79.9 7.7 0.4
KUK O 9 71.6 13.3 15.1 -
X B 15 19.4 53.4 27.1 -
N 24 38.2 39.0 22.8
FLHLTH = 5,258 97.4 1.9 0.2 0.5
on 8 84 iR -
N 5,258 97.4 1.9 0.2 0.5
FASKTBY M H 26 56.9 39.5 - 3.6
=H238 = = 1,218 96.9 3.1 - -
HZDAZH = = 37 81.6 15.8 2.6 -
on 8 84 R -
N5 37 81.6 15.8 2.6 -
HZDPOH = = 1,739 67.6 30.2 2.1 0.1
on 8 8 R -
N 1,739 67.6 30.2 2.1 0.1
AN H # OB 14,055 88.9 10.3 0.8 0.1
InfgEE [T 13 100.0 - - -
= B 80 91.1 8.9 - -
N 92 92.4 7.6 - -
#%358 T 4,854 - 6.8 93.0 0.1
e -
N F 4854 - 6.8 93.0 0.1
SXRFHS N 1,789 - - 25.5 745
o 8 88 iR 23 - 6.8 31.0 62.2
N 1,812 - 0.1 25.6 74.3
HTEZDHEE S 8,581 92.4 6.9 0.6 0.1
on 128 §7 72 89.1 10.9 - -
N 8,654 92.4 6.9 0.6 0.1
HDOUMY = B 139 479 36.4 15.7 -
*x W 6 100.0 - - -
m K -
% E 186 415 58.5 - -
F o= 134 100.0 - - -
B 159 30.9 69.1 - -
E W 103 100.0 - - -
| -
= H 134 100.0 - - -
I B 965 6.3 83.5 6.6 3.7
&% M 3 97.7 23 - -
Z 6 60.8 - 39.2 -
= = 103 56.2 438 - -
# B 214 2.6 97.4 - -
E E 1 100.0 - - _
2 51 48.7 51.3 - -
oo -
E IR -
N 20 - - 100.0 -
X & 83 88.1 11.9 - -
on 8 84 R 5 - 100.0 - -
N 2,313 34.6 59.2 4.6 15
HEYE o' 34 70.0 30.0 - -
T & =
N 34 70.0 30.0 - -
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(BAfI: k>, %)
&h 8 E i w F = = 3 = (B &
IRT7YE g B 29 63.2 33.9 2.8 0.1
T A 1,874 72.9 21.3 46 1.1
2o 5 5.1 60.6 14.3 20.0
i 12 % AR -
N E 1,908 72.6 21.6 46 1.1
HhlFdh A 57 76.4 21.6 1.8 0.2
on 8§ -
N5 57 76.4 21.6 1.8 0.2
HDIZLE g B 87 77.6 22.4 - -
EYo<KL 2 [ 1,486 2.9 89.6 6.8 0.7
HDY DI = B 658 62.9 30.4 6.6 -
on 18§ 44 100.0 - - -
INE 703 65.3 28.5 6.2 -
HDYDFE = E -
=E525 | 1,088 19.4 455 26.8 8.3
X —D(4—> =2 F 46 94.5 0.4 2.8 2.3
O 82 79.8 20.2 - -
# H 318 89.5 10.2 0.0 0.3
W 828 97.4 2.3 0.1 0.1
B B 2,268 93.9 55 0.3 0.3
% W 5,740 76.6 21.8 1.3 0.3
K 1,045 91.9 7.1 0.9 0.1
B OE 8 100.0 - - -
B E 248 25.1 60.8 13.9 0.2
F o 1,105 97.8 1.9 0.0 0.2
;o8 2,033 64.7 335 1.1 0.7
E W 1,676 94.4 48 0.3 0.5
g N 634 78.4 16.8 4.7 0.2
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5= B M@ 224 45 65.3 13.8 16.4 -
R B 26 - - 80.9 19.1 -
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(G b, %)

& # Eow | 8 = # = *
B E | BHEZ1 % 2% |3 % 8588450
e AT | 219 - - 86.1 7.0 5.4 14
=158 W 148 - - 49.4 39.3 11.4 -
BB 961 - 1.6 93.2 2.9 1.9 0.3
W 506 - 5.3 89.0 5.3 0.0 0.3
m B 188 - - 81.3 17.2 15 -
* W 69 - 4.2 92.2 - 36 -
wm R 10 - - 100.0 - - -
E W 4 - - 100.0 - - -
T 11 - - 100.0 - - -
= B 2,106 - - 96.5 2.7 0.7 -
INE 4,000 - 1.1 92.3 5.1 1.4 0.1
SHMEEL B m -
TP R= T2 76 - - 90.8 4.2 4.9 -
BB 22 - - 66.8 33.2 - -
INE 99 - - 85.4 10.8 3.8 -
LI EER T W 36 - - 17.6 82.4 - -
W 1 - - - 100.0 - -
B B 113 - - 93.7 5.0 1.0 0.4
* W 44 - - 74.9 15.8 9.3 -
wm R 996 0.7 12.9 64.5 105 6.3 5.1
BB 2 - - - - 100.0 -
m E 56 - 2.2 72.2 6.9 18.7 -
F E 13 - - 15.5 845 - -
mwmxE N 74 - - 80.8 0.7 18.2 0.2
R 624 - - 76.5 11.2 9.7 26
E W 494 - - 91.3 8.7 - -
a 57 - - 81.6 17.2 1.2 -
= 151 - - 81.1 7.3 11.6 -
1T} 28 - 9.6 31.4 5.8 45.9 7.3
£ % 34 - - 93.1 - 1.6 5.3
% m 371 - - 68.8 15.3 15.7 0.3
P ! 25 - - 96.4 - 36 -
= = 332 1.1 50.1 28.8 13.6 6.3 -
% B 680 - 10.6 52.1 30.5 4.2 26
WA 161 - - 40.1 50.4 7.8 1.7
X B 24 - - 4.1 1.9 78.9 5.0
E E 16,031 5.0 57.3 21.2 3.9 6.7 6.0
= R 159 - - 315 49.2 16.0 3.3
M oW 22 - - - 60.1 39.9 -
B 348 - - 55.0 22.3 22.7 -
5 166 - - 37.3 56.6 5.8 0.3
@ W 2,464 0.1 0.4 53.0 18.0 21.6 6.8
L B 872 - 14 80.5 8.5 7.6 2.0
1T = 1,811 0.4 23.0 54.5 8.2 12.0 1.9
®m B 403 - 68.7 12.8 35 14.7 0.3
F 28 - - 215 47.9 30.6 -
Z IR 29 - - 46.8 53.2 - -
= 30 - - - 55.1 44.9 -
7 M| 930 0.5 4.7 76.9 8.7 6.3 2.9
® = 242 - - 40.9 240 27.8 7.3
E & 63 - - 135 49.2 22.7 14.6
BEE XK 183 - - 71.0 19.7 - 9.4
X & 60 - - 45.1 225 29.6 2.9
=G 9 - - - 24.7 75.3 -
R 5 1 - - - 100.0 -
IN R 28,168 3.0 36.6 37.5 9.0 9.2 48
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(G b, %)

o s = = & ke &=
i " ER\RH T Tre[ 2 2% 3 % [BRS
L EFE E & 121 - 68.0 26.7 5.3 - -
D& " F 124 - - 41.6 39.0 19.3 -
i T 319 - 7.2 82.4 4.9 2.9 26
ST = B 2 - - 100.0 - - -
=1BE Z M 111 - 45 355 55.6 45 -
e TS 130 - 6.3 78.4 8.1 - 7.1
21k 1T 135 - - 95.5 45 - -
= 151 - - 975 25 - -
N E 286 - - 96.6 34 - -
EJokS = 1,201 - 0.4 90.8 8.1 0.8 -
ERE W= 25 - - 94.4 - 5.6 -
R 8 - - 100.0 - - -
N E 32 - - 95.7 - 43 -
=K *x W 7 - 100.0 - - - -
B 39 - 6.0 78.4 15.6 - -
wmxE 20 - - 60.2 28.2 11.6 -
Z 102 - 14.8 540 25.2 6.0 -
X & 16 - 31.0 51.0 16.1 - 1.9
I E 184 - 16.0 57.6 21.8 4.6 0.2
T * B 55 - 30.4 14.7 12.8 421 -
Eih2s E & 68 - 62.5 17.0 20.5 - -
E O & & % W Et 74,685 1.3 18.7 60.6 1.8 5.1 26
o i T # = 79,970 1.2 18.3 57.0 115 9.3 2.7
F:1) SOVKOBBRTHERNRN—HBLEWNGENH S,
2) TOoJ FEFICHREGZVLDED, -1 FEELALGZVIDETT,
3) HREBEICITEMGZEHMUNOHEELEENI-OEMRIERMITE—BLEL,
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